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Run Summary Sheet : CAMAC & LabView e TELZE
| | | | | | ] Att Det.Setup
| [Fname | “start | stop |Header |[Ender / L{_Elapse aAVk 100[10[ 5[ 3] 2| Trig |Wob |AuF [Kap [IG1 |PL1 [ED [PL2 |Airl |Air2 [PL21C2,SSD
LogNote: ESexp(7)_ 1G2
bef— ] | | [ 12C6+ 135MeV,/u 32.6MHz Hyper—-ECR 1pnA
21/06/29] 1] 16:15:21] 16:40:52|SSD 2105 Ar—gain DI < [o.108
SEERth: Beamif BERS
21/07/01 13:30:00] SRGrof8 T . BFEYIBESBOA ~2hr IhE
ZnSARy R p.141
Cap 1] 15:56:00 RO1 ZnS Qmag, Z=0-300 mpg ol 2[ 1] o] 3 x 50u [x [x [x 145] 200
2 R02_ZnS@Au Focus
3 RO3 AZD/\>5
4 R04_ZnS@Au=out, WobR=10,20,30,40 LightON Wob=C135T ol 2[ 1] o] 2
5 R05_ZnS@Au=out, Light=OFF, WobR=40,35-,10
6 R06_ZnS@Au7zL TWobON
7 RO7 WobOFF,ZnS out, Au20um_in 0] 2| 1] O] 1
8 R08_Gaf01_Au20um
9 R09_Gaf020e03
10 R10_Gaf04 Au121um
11 R11_Gaf06 HiOT)
GafffEZ=(1)  |Gaf: EBT3 [185x85mm @ Ysld p.142
| |Gaf 1] 17:30:00 Au 20u, R=0 5s 0] 2| 1] 0] 4
2 Au 20u, R=0 25s 11 1] o[ 4
3 Au 49u, R=0 45s
4 Au 112uA#5, R=0 60s
5 Au 112u, R=35(C135) 60s
6 [ £+ H 031 O30x30 60s
[p.142
18:00:00] _[PL1=3mm(new) PL2=500u(2105ArfE F) PL1 Thr=309, Low900mV
PL HV(1:FIATEID PL1=PL2= 400cps 3| 1] 1] o] 3|PorS(0)|R35 [112u O [3mm|0u [500u
| [plhvO1- 1] 18:29:06] 18:30:10[plhv01-01 700V 0:01:04[PL1=800ViRFE
2[ 18:30:36] 18:31:33|plhv01-02 800V :
3 :58| 18:33:09|plhv01-03 900V
4] 18:33:40| 18:34:50(plhv01-04 1000V 01:
(new) IC1-HV FS5+—EEE: F5 p.143 1 2] 0] o] 2
| 18:55:00] |20~ 200(# &) ~ 350V EREZFFEISVE > BEIE 200V TPS
|| |scnEDic: ExpR #EE2
| [scnEDic01 202107011910 30sec 0.143 IC1~IC2=1.0-7A] 0] 2[ 1] 0] 2 var |IC2K
| [ 19:10:00] 19:23:00|5 TR F+> 0:13:00
| |senEDic02 202107011924 30sec p.144
19:24:00] 19:56:00[ A% 44/51:8% 0:32:00
PLHV(2:ERHTIE&) PL1=PL2= 400cps 3| 1] 0] 0] 2|PorS(0) 3mm|Ou  |500u
| [plhv02- 1] 20:05:59] 20:06:48[plhv02-01 700V 0:00:49| 2 {E 7L Y
2[ 20:07:15[ 20:09:31]plhv02-02 800V :
3] 20:10:44] 20:12:00|plhv02-03 900V
4| 20:12:28] 20:14:58[plhv02-04 1000V
scnAtt: IC1 vs PL1
| |scnAtt01.202107012039 p.142 11/ 0] o] 3]~ IC2@Air2,X=0
[ 20:39:00] 20:47:00 E—LiFE5>T ARAT 0:08:00 3/ 1] 0/ 0] 2
| |scnAtt02 202107012049
[ 20:49:00| 21:00:00| E—LEBTF@ET 0:11:00
| |scnAtt03 202107012105
21:05:00| 21:18:00(+%F 100cps A SIEPFHMET 0:13:00
scnAtt03—
1] 21:06:31] 21:07:00|scanAtt001 Mul 40000000 0:00:291/f=1/999~1/9 FHTEE
2] 21 21:07:56 scanAtt002 Mul 400000000 :
3 21:08:27| scanAtt003 Mul 20000000
4 21:09:22| scanAtt004 Mul 8000000
5 21:10:46| scanAtt005 Mul 4000000
6 21:11:50| scanAtt006 Mul 2000000
7 21:12:40| scanAtt007 Mul 800000
8 21:13:58] scanAtt008 Mul 400000
9 21:14:50| scanAtt009 Mul 20000000
10 21:15:22| scanAtt010 Mul 200000
11 21:16:18| scanAtt011 Mul 80000
12 21:17:21|scanAtt012 Mul 40000
13 :17: 21:18:28 | scanAtt013 Mul 200000
14| 21:18:29] 21:19:02|scanAtt014 Mul 20000
PEGEIE ED=128B=18422.8um
21:35:00] 21:40:00[EDHE O #EL 5minf&5T p.147 FC5A1=9enA, IG1=1.09-6A| 0| 1| 1] 0] 2 O |0 |fix [#&L
|| scnEDssd: ED[EEEIEH
| |scnEDssd01_202107012148 p.147
|| 21:48:00| 22:04:00(3sec/ = PL 45K, Sor 1K cps| 2| 2| 0| 0| 4|PandS var SSD@Air2
| |scnEDssd01—
1] 21:48:21| 21:48:51|scanED001 2890.0 um
2 :49: 21:49:33|scanED002 5194.0 um
3 21:50:15|scanED003 8084.0 um
4 21:50:57 |[scanED004 10314.0 um
5 21:51:39|scanED005 13204.0 um
6 21:52:21|scanED006 13208.5 um
7 21:53:03|scanED007 13214.0 um
8 21:53:45|scanED008 13228.8 um
9 21:54:27 | scanED009 13254.5 um
10 21:55:09] scanEDO010 13303.8 um
1 21:55:51|scanEDO11 13447.9 um
12 21:56:34| scanEDO012 13684.5 um
13 21:57:17|scanED013 14180.2 um
14 21:57:59| scanEDO014 15508.0 um
15 21:58:41|scanED015 15512.5 um
16 21:59:23|scanEDO016 15518.0 um
17 22:00:05|scanED017 15532.8 um
18 22:00:47|scanEDO018 15558.5 um
19 22:01:29|scanED019 15607.8 um
20 22:02:11|scanED020 15751.9 um
21 22:02:53|scanED021 15988.5 um
22 22:03:35|scanED022 16484.2 um
23 22:04:17|scanED023 18398.0 um
21/07/01 MT#T
| |aft— 1206+ 135MeV/u 32.6MHz Hyper—-ECR 1pnA
21/07/01] 1] 22:42:26] 23:24:22 p.147 [ 17
HIEEN [ 11
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